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1. Suppose you deposit $12,000 in a savings account that earns 8% interest compounded yearly. How rhany
years will it take now to double your balance? (10%)

2. Suppose that you invest $1,500 in stock. Two years later, your investment becomes to be $2,500. What is
the rate of return of your investment? (20%)

3. The government is considering undertaking four projects. These projects are mutually exclusive, and the |
estimated present worth of their costs and the present worth of their benefits are shown in millions of
dollars in the following table:

Projects Al A2 A3 Ad
PW of benefits $ 40 $150 $70 $120
PW of costs $ 85 $110 $25 $73

Please use the benefit-cost analysis (B/C(i)) to determine which project would be the best alternative?
(20%)
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z 00 L 02 03 04 05 08 07 08 09
0.0 0000 004D  0DSO 0120 0160 0199 L0239 0379 0319  .0389
0.1 0398 0438 0478  .0517 0557 0596 .0B36  .0675 .0TI4 0753
02 0793 0832 0871 .0910 0948 0987 .1026  .1064  .1103 .1141
0.3 A179 L1217 L1255 L1293 (1331 L1368 L1406 1443 1480 1517
0.4 1554 1591 1628 .1684  .1700 1736 1772 1808  .1844 1879
0.5 1815 1950 1985 2019 2054  20B8 2143 2157 2190 2234
0.6 2257 2201 2824 2357 2389 2422 2454 2486 2517 2549
0.7 2580 2611 642 2673 2704 2734 2764 2794 2823 2852
0.8 2881 2010 2939 2967 2995 3023 3051 3078 3106 .31}
0.9 3159 3186 8212 3288 3264 3289 3315  .3340 3365 338
1.0 3413 3438 3461 3485 3508 3531 3554 3577 3599 362!
1.1 3643 3665 3686 3708 3720 3749 3770 3790 3810 3830
1.2 3849  .386%  .3B88 3907 3925 3944 3962  .3BBO 3997 4015
1.3 4032 4048 4086 4082 4089 4115 4131 4137 4162 AT
1.4 Al92 4207 4222 4236 4261 4265  .42T9 4292 4306 4319
1.5 4332 4345 4357 4370 4382 4394 4406 4418 4429 444)
L6 4452 4483 4474 4484 4495 © 4505 4515 4525 4535 4545
LT AS554 4564 4573 4582 4591 4509 4608 4616 4625 4633
1.8 4641 4649 4656 4664 4671 4678 4686 4693 4699  .4706
1.9 AT13 4719 4726 4732 4738 4T44 4750 4756 4761  AT67
20 4772 4718 ATE3 4788 4793 4798 4803 4808 4812 4817
2.1 4821 4826 4830 4834 4838 4842 4846 4850 4854 4857
2.2 4861 4864 4868 4871 4875 4878 4881 48B4 4887 4800
23 4893 4806 4898 - 4901 4904 4906 4900 4911 4913 4916
2.4 4918 4920  .4922 4925 4927 4929 4931 4932 4034 4938
25 4938 4940 4941 4943 4945 4946 4948 4049 4951 4952
2.6 4953 4955  .4056 4957 L4959 4960 4961 4962 4963 4964
27 4965 4966 4957 4968 4069  .4970 4971 4972 4973 4074
2.8 4974 4975 4976 4977  A9TT  49TB 4979 4979 4980  .498)
2.9 A98] 4982 4982 4983 4084 4984 4585 4985 4986 4086
3.0 A98T 4987 4987 4988 4988 4989 4989 4989 4990 4990




